GCSE 9 - 1 Questions

Quadratic Simultaneous Equations

Calculator Allowed

INSTRUCTIONS TO CANDIDATES

Write your name in the space provided.
Write your answers in the spaces provided in this question paper.
Answer ALL questions.

Any working should be clearly shown in the spaces provided since marks may
be awarded for partially correct solutions.

You should have a ruler, compass and protractor where required.

Total Marks :
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1) Solve the following simultaneous equations using an algebraic method. 6]

2x2+xy-5=0
x+y=4
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2) Solve the simultaneous equations
dyt-x:=17
x+y=5

A solution by trial and improvement will not be accepted.
Show your working.

Answer [7]
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3) Solve the following simultaneous equations using an algebraic method. [6]

2%+ xy+6=0
x+yp=7
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4) Solve the simultaneous equations
— 24l =
x=2ye 5 and  xf 4 3yt = 57

A solution by trial and improvement will not be aceepted,

Answer [7]
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5) Solve the simultaneous equations

v=3x+5
2xy - 3x? = -8

Show your working.
A solution by trial and improvement will not be accepted.

Answer

[7]
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6) Nolve the slmultanecus equations y = 4 Sy = 2 and Sy 2y = 22,

Answer

[7]
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) ia)  Solve the following simultaneous equations using an algebraic method.

W h o+ 6=10
r+y=8

[6]

(b) Use the formula method to solve 2x> + 5x — 4 = 0, giving your answer correct to
2 decimal places.

............................................................................................................................................................................................................
...........................................................................................................................................................................................................
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8) (a) Solve the following simultaneous equations using an algebraic method. 6]

0

2

4x? + xp—8
x+ty

mnn

(b)  Use the formula method to solve 3x? + 5x —4 = 0, giving your answer correct to 2 decimal
places. (3]
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9) The diagram shows the intersection of the line y = x — 6 with the circle with
equation x> +)? = 26

x> +y'=26

/

(a) Show that the x co-ordinates of the points of intersection of the
line with the circle can be found from the solutions to the equation
¥—6x+5=0

3]

(b) Hence find the co-ordinates of the points of intersection of the line and
the circle.

Answer ( , ) ( ) ) [3]
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10)

{(x+ 3hcm Area =

28-875cm?

{(y+6)cm

(@ Prove that xy + 3y + 6x = 3975,
You must show your working. [3]
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(b)

yem

(x + 3)cm Area =

28-875¢cm? B ]
j (x+ 3)cm
(v +6)cm Perimeter 20cm
Use an algebraic method to calculate the dimensions of the rectangle. [6]
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